
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser med potens på ti (manglende tall)

10, 016 × ________ = 1001.6 8, 546 × ________ = 854.6

7, 09 × ________ = 7090 8, 873 × ________ = 88.73

4, 902 × ________ = 4902 6, 25 × ________ = 625

6, 391 × ________ = 639.1 9, 6 × ________ = 96

1, 285 × ________ = 128.5 8, 793 × ________ = 87.93

5, 001 × ________ = 50.01 1, 185 × ________ = 11.85

10, 201 × ________ = 10201 2, 99 × ________ = 2990

3, 165 × ________ = 31.65 6, 384 × ________ = 63.84

1, 575 × ________ = 157.5 5, 918 × ________ = 591.8

7, 878 × ________ = 7878 3, 656 × ________ = 3656
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser med potens på ti (manglende tall)

10, 016 × 100 = 1001.6 8, 546 × 100 = 854.6

7, 09 × 1000 = 7090 8, 873 × 10 = 88.73

4, 902 × 1000 = 4902 6, 25 × 100 = 625

6, 391 × 100 = 639.1 9, 6 × 10 = 96

1, 285 × 100 = 128.5 8, 793 × 10 = 87.93

5, 001 × 10 = 50.01 1, 185 × 10 = 11.85

10, 201 × 1000 = 10201 2, 99 × 1000 = 2990

3, 165 × 10 = 31.65 6, 384 × 10 = 63.84

1, 575 × 100 = 157.5 5, 918 × 100 = 591.8

7, 878 × 1000 = 7878 3, 656 × 1000 = 3656
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